
                                                                                                                                           PAGE 1 OF 5 
 
   
 
 
 
 
 
 
 
 
 
 
                           

UTILITY VEHICLE UTILITY RACK-
MULTI FIT 

MODEL: UVUR10MF 
                                                

 
READ ALL INSTRUCTIONS BEFORE INSTALLING UTITLITY RACK. 

NOTE:  Failure to read instructions before use could result in injury or death. 

Instructions for Installation and Use: 
 

                                                                                           

 
                                                                  FIG. 1 

 

Contents: See Fig. 1 
 

88-flat washers  
36-5/16” locknuts 
8-1/4”locknuts 
8-1/4” x 1 ¼” lag screws. 
6-5/16”x 2” eyebolts 
8-1/4” x 1 ¼” bolts 
14-5/16” x 2 ½” bolts 
16-5/16” x 2” bolts 
1-set of canoe straps 

Contents Continued: See 
Fig. 1A 
(A) 4-bent upright arms 
(B) 5-22” splices 
(C) 2-12” splices 
(D) 4-upright legs 
(E) 4-load stops 
(F) 6-horizontal cross bars 
(G) 2-Extension Angles 
(H) 2-Extension Cross Bars 
(17 ¾) 

G 

 



 
                     FIG. 1A             

          PAGE 2 OF 5 
 
  

            
 
 
 
 
 
 

                                             
                                                                           
                                                                                                                                 
                                                                       

 
    FIG. 2 
 
                                                           
 
 
 
 
 
 
 

        
                                         
 

STEP 1-MEASURE THE INSIDE OF THE CARGO 
BOX FROM FRONT TO BACK. ASSEMBLE THE 2 
BENT UPRIGHT ARMS (A) USING EITHER ONE 22” 
SPLICE (B) OR 12” SPLICE (C) TO PROVIDE 
PROPER WIDTH OF CARGO BOX. SECURE USING 
TWO 5/16” BOLTS, FLAT WASHERS AND 
LOCKNUTS. REPEAT FOR OTHER SIDE. SEE FIG. 2 

STEP 2-MEASURE FROM THE 
TOP OF THE CARGO BOX TO 
THE TOP OF EACH ROLL BAR 
OR ROOF. ADD 3” TO 
MEASUREMENT OF 
EXTENSION. SLIDE UPRIGHT 
LEGS INTO UPRIGHT ARMS 
AND SELECT HOLE IN LEG 
THAT WILL GIVE DESIRED 
HEIGHT. SECURE WITH 5/16” 
BOLTS, FLAT WASHERS AND 
LOCKNUTS.  
**NOTE** THE LONG SIDE OF 
THE ANGLE ON LEGS SHOULD 
BE ORIENTED TO BE LOCATED 
INSIDE OF CARGO BOX WITH 
SHORT SIDE OF ANGLE 
RESTING ON TOP OF CARGO 
BOX. **  
REPEAT FOR OTHER SIDE. SEE 
FIG. 2 

STEP 3-MEASURE THE INSIDE OF THE CARGO BOX FROM SIDE TO SIDE. ASSEMBLE 2 OF 
THE HORIZONTAL CROSS BARS (F) WITH ONE 22” SPLICE (B) USING TWO 5/16” X 2” 
BOLTS, FLAT WASHERS AND LOCKNUTS. BE SURE TO SELECT HOLES IN SPLICES THAT 
WILL GIVE YOU THE REQUIRED MEASUREMENT. REPEAT PROCESS WITH OTHER CROSS 
BARS AND SPLICES.  
**NOTE** IF THE PRE-DRILLED HOLES DO NOT GIVE YOU THE EXACT MEASUREMENT 
NEEDED, SECURE 1 CROSS BAR TO SPLICE IN EXISTING HOLE, SLIDE OTHER CROSS 
BAR ONTO SPLICE UNTIL DESIRED MEASUREMENT IS REACHED. MARK SPLICE WITH 
PENCIL, REMOVE CROSSBAR AND DRILL MARK WITH A 5/16” DRILL BIT. ** SEE FIG. 3-
NEXT PAGE 

A 

B 

E 

D 

F 

C 
H 



                                                                                                                                        
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                                                                                                                                         PAGE 3 OF 5 

                                                              
                                                       FIG. 3 
 
 
 
 
 

STEP 4-SECURE A 5/16” EYEBOLT TO EACH OF THE LOAD STOPS (E). SEE FIG. 3-NEXT 
PAGE 

STEP 5-ATTACH THE 4 LOAD STOPS (E) TO 2 OF THE CROSS BAR ASSEMBLIES USING 
FOUR 5/16” X 2 ½” BOLTS, FLAT WASHERS AND LOCKNUTS.  
**NOTE** THE THIRD CROSSBAR ASSEMBLY ATTACHES TO THE FRONT OF THE 
SUPPORT ARMS AND DOES NOT REQUIRE LOAD STOPS. ** SEE FIG. 3-NEXT PAGE 

STEP 6-ATTACH THE 3 CROSS MEMBER ASSEMBLIES TO THE SIDE ASSEMBLIES USING 
5/16” X 2 ½” BOLTS, FLAT WASHER AND LOCKNUTS. 
**NOTE** THE 2 CROSS MEMBER ASSEMBLIES THAT HAVE LOAD STOPS INSTALLED ARE 
TO BE USED ON THE TOP OF THE RACK. SEE FIG. 4 

THIS CROSS 

BAR 

ASSEMBLY 

HAS THE 

LOAD STOPS 

 



 
 
 

 
                                           FIG. 4 
      
                                                                                                                                

         PAGE 4 OF 5 
 
 

   
                     FIG. 5 
 
 
 
 

STEP 7-ATTACH 1 OF THE 17 ¾” EXTENSION 
CROSS BARS TO 1 OF THE EXTENSION 
ANGLES USING A 5/16” EYEBOLT AND 
LOCKNUT. (NO FLAT WASHERS WILL BE 
USED) REPEAT WITH REMAINING 
EXTENSION COMPONENTS. SLIDE A 22” OR 
A 12” SPLICE INTO 1 OF THE EXTENSION 
CROSS BARS AND SECURE IT WITH A 5/16” 
X 2” BOLT, FLAT WASHERS AND LOCKNUTS. 
SEE FIG. 5 

STEP 8-WITH THE HELP OF A 
FRIEND, PLACE THE EXTENSION 
ASSEMBLY ON TOP OF THE 
ASSEMBLED RACK & ALIGN HOLES 
WITH THE BACK EDGE OF THE 
REAR CROSS MEMBER AND MARK 
HOLES FOR DRILLING. REMOVE 
THE EXTENSION AND DRILL MARKS 
WITH A 5/16” DRILL BIT. RETURN 
THE EXTENSION TO THE RACK AND 
SECURE WITH ONE 5/16” X 2 ½” 
BOLT, FLAT WASHERS AND 
LOCKNUTS. SEE FIG. 6 
ONCE THE EXTENSION IS 
ATTACHED TO THE DRILL HOLES 
THROUGH THE EXTENSION ANGLE 
AND FRONT CROSSBAR AND 
SECURE WITH 5 /16” X 2 ½” BOLTS, 



   
      FIG. 6 
 
 
 
                                            
                       
 
 
 
 
 
                                                                                                                                    PAGE 5 OF 5                                                                                                                                                                                                                                                                                                                                                    
 
 

 : PLEASE READ AND FOLLOW ALL INSTRUCTIONS AND WARNINGS             
                                   FURNISHED WITH UVUR10MF UTILITY RACK. 
 
                                                                                                                                                    

  : MAXIMUM WEIGHT CAPACITY 100 LBS. 
 
 

  : NEVER ALLOW ANYONE TO SIT OR CLIMB ON UTILITY RACK AT ANY TIME. 
 
 

  : NEVER USE UTILITY RACK FOR ANY PURPOSE OTHER THAN INTENDED USE. 
 
 
 
 

  : NEVER TRANSPORT A LOAD ON UTILITY RACK WITHOUT IT BEING    
                     PROPERLY SECURED. 
 
 
 
                                                                                                        

STEP 9-WITH THE HELP OF A FRIEND, PLACE COMPLETE RACK ASSEMBLY ONTO CARGO 
BOX. MARK HOLES IN UPRIGHT LEGS AND DRILL USING A ¼” DRILL BIT, SECURE THE 
RACK TO THE CARGO BED USING EITHER EIGHT ¼” LAG SCREWS OR EIGHT ¼” X 1 ¼” 
BOLTS, FLAT WASHERS AND LOCKNUTS.  
**NOTE**BOLTS AND LOCKNUTS ARE RECOMMENDED IF YOU CAN ACCESS THE END OF 
BOLT TO INSTALL LOCKNUTS. ** 



For more information about this or other products, contact us at: 

Great Day, Inc. 
604 Kimbrough Dr. * Tallulah, LA 71282 * (866) 649-1918 * www.greatdayinc.com 

 
 
 
             
 
 
 
 
 
 
 
 
 
 

http://www.greatdayinc.com/

